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Problem quickname: 8600

1)

Calculate the result.

a) 775.57 = 100 b) 316.04 = 10 c¢) 810.94 + 100 d) 343.6 =+ 100
e) 838.66 + 10 f) 885.23 + 100 g) 123.81 = 100 h) 509.39 =+ 10
i) 404.21 = 10 j) 950.34 = 10

2)

Calculate the result.

a) 8.3581 = 100 b) 6.8208 =+ 100 c) 7.2184 + 10 d) 5.0342 + 100
e) 9.9497 + 100 f) 3.8093 + 10 g) 7.555 + 10 h) 5.5097 =+ 100

i) 7.6878 = 10 j) 4.5189 = 100

3)

Calculate the result.

a) 39 + 1000 b) 14.3 + 10000 c) 61.5 <+ 100 d) 97 = 100
e) 35.5 + 10 f) 54.6 + 100 g) 89.1 +10 h) 56.9 = 1000
i) 49.2 = 10000 j) 91+ 10

4)

Calculate the result.

a) 583.5763 = 1000 b) 115.6889 + 10 c) 897.7631 + 10

d) 606.0942 + 100 e) 269.3286 + 100 f) 366.9091 + 100
g) 834.2492 + 100 h) 244.5913 <+ 1000 i) 237.3557 = 1000
j) 969.9443 = 10000

Good Luck!
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